Es 9 G &=

THEES - THA | 4 Oo) ITRE2 05 Hkma) I8 B E I L4

T % 5 | ABRETTERTLILM A

oK 4 %110, 340, 000M (HbBLWHER 940, 000

BRFEEEAB | 5f 54 10H 10H

T WS 54 10H 1180 2o 4f 64 3H 2501

BRIOF T FH O
FE AT M 4 B - | iR RSt REEGEE vl KR
P M O R E 4

METME L=76. 8m

EARRE 1 V=210m3

2y R V=260m3
T % M = \

giF (RC—40 t=10cm) A=215m2

BEAKAEEY T —1

fhs T —1

R RMIT KD
ez - T,
ZEIOMFH %
EE L ZHEM




SM54F10R6H

A Al it

5051000051

4 (o) BTXHE205 ABRA)IZEFEERERERTIE

T H %5

ABRETERFILLRE R

A A H K| SM5F1086H F#i108004

A L B FR

el (R ) @8 0 505,000
[tk ]

¥R il & 9,505,000 9
[Fitk]

i K & PR Al 4% ) 694000 FA
[Fitk ] Y

A AT SR YE i A
[Fitk]

?}% i & %E 9,400,000 H
[tk ]

EHEFRERARAFIRE 7 3FHD 1
% L & ML (#)

R RENRHR
NTIR )

i =1




AL R @ *

\
/

K% 5051000051 IF 4 (o) AIK$E208 AEAIEACEAERERTIS
No. A AL 3 = %1 B AFLEA | 55 2 M AFLEE | 55 3 Rl AFLEE
1 (%) =FHDHE 11, 000, 000 9, 890, 000
RIS HTAH RE 0000000423
2 BERE (%) 10, 900, 000 9, 850, 000
KRR =k BT 0000000430
T E
3 falLE (#) 10, 000, 000 9, 800, 000 9, 400, 000
REREEER L KA 0000000458
4 (#) BRITER 10, 900, 000 9, 950, 000
REDME BH =% 0000000598
5 (B NRIX 10, 800, 000 9, 830, 000
RERIEE /B B 0000000602
6 &) M EEE 10, 900, 000 9, 900, 000
REIEERE NE A% 0000000606
%) R~oF R R
7| AFEER
BEERE B EA 0000000608
() TRV A2AVFFUR
8 | nEmxE 10, 800, 000 9, 900, 000
YER Tl EE 0000001056
9 RlRE () 10, 500, 000 9, 900, 000
REREER £ i 0000001559
10 ) FrLBis 11, 000, 000 9, 870, 000
RERMER FE B 0000002041
11 (#) FREME 10, 800, 000 9, 870, 000
REmMSER M F— 0000004311
12 (B KRIx 10, 700, 000 9, 870, 000
KEREER KkF BEESR 0000001176
13 mIER () 11,100, 000 9, 930, 000
REmIFEE Il fnE 0000013221
14| @ TR FHR FR
RERIEE & FH 0000014291
- |
A
>
~




